BT TRIA O - HEHHEE X T EIZEJ'ZiSEOSH KIRHE
- I:I - 3 I:I
X 71,506 157,807 75423 82,384 | ZHFILUETAT 742 1,904 906 998
E 4594 10,125 4,698 5,427
BEKET1T 876 1,896 913 983 |R LEFZHT2T 1,388 3,266 1,575 1,691
BEKET2T 344 835 396 439 5 1,388 3,266 1,575 1,691
B 1,220 2,731 1,309 1422 |R=ZE~ EB1T 119 318 161 157
< FE] BT 8,200 19,891 9449 10442 |R=E~EHR2T 268 525 246 279
Lt RER1T 347 550 274 276 |R=E~ EBT3T 438 1,010 490 520
Tt RERT2T 229 457 212 245 |{R=E~ EBT4T 197 372 171 201
Lt RER3T 290 521 281 240 |{R=E~ EBT5T 379 692 367 325
Lt RERT4T 165 292 149 143 st| 1,401 2,917 1,435 1,482
Lt RERST 138 294 148 146 | KZIFAT1T 750 1,704 804 900
Tt ERERGT 93 241 119 122 | KEZFET2T 913 1,984 959 1,025
TtERER7T 75 180 87 93 | 1,663 3,688 1,763 1,925
Tt ERERST 120 224 113 111 |ERERT 71 168 75 93
g 1,457 2,759 1,383 1,376 [ RERT2T 154 345 179 166
tfEBET1T 197 427 202 225 (BB RERI3T 160 228 70 158
tfEBET2T 1,077 2,472 1177 1,295 |FARERTAT 198 305 105 200
tfEBET3T 900 1,745 861 884 (B RERIST 133 307 143 164
tfEBET4T 871 1,994 1,000 994 Hi 716 1,353 572 781
g 3,045 6,638 3,240 3,398 |F{E AEET 2,110 4,931 2,426 2,505
ERATET1T 615 1,597 795 802 |EAHT 243 455 236 219
ERATET2T 319 769 376 393 |BEEERMET1T 257 484 233 251
ERATETST 346 804 388 416 |BEE ERMET2T 448 932 467 465
g 1,280 3,170 1,559 1,611 (BEEHRMAETST 676 1,511 727 784
==Yl 999 2,210 1,049 1,161 (BE B HRMET4T 634 1,323 661 662
HEWEET 238 508 237 2711 |BEEERMETST 696 1,679 801 878
HERE2T 411 735 330 405 5| 2,711 5,929 2,889 3,040
HEWREIIT 263 494 248 246 |BEEMBILAT1T 228 396 191 205
HEWE4AT 145 312 146 166 (B & Bi#EiLET2T 386 849 409 440
B 1,057 2,049 961 1,088 | & EBH#EILEIST 523 1,074 516 558
HEREET 1,644 3,337 1,534 1,803 |BE & B#EILET4AT 574 1,237 596 641
HEREET2T 3,129 6,771 3,210 3561 |BEEMBILATST 720 1,684 816 868
HEFETST 3,098 6,289 2,834 3,455 B 2,431 5,240 2,528 2,712
HEFETAT 2,295 4597 2,043 2554 |BEEBHEET1T 950 1,915 920 995
HEREEIST 1,244 2,703 1,313 1,390 (B E BiBHT2T 141 301 155 146
5| 11,410 23697 10934 12,763 |BEE#EEI3T 2,160 4599 2,233 2,366
HUEET1T 762 2,182 1,059 1,123 B 3,251 6,815 3,308 3,507
HYERT2T 517 1,313 654 659 |[BEERZE1T 641 1,472 693 779
g 1,279 3,495 1,713 1,782 (BB BHEZET2T 473 1,026 483 543
MEET 438 1,014 494 520 | BEERZET3T 318 776 377 399
EET2T 303 769 37 398 B 1,432 3,274 1,553 1,721
g 741 1,783 865 918 |BEEEARETTT 672 1,339 672 667
WHAEET1T 736 1,916 918 998 |BEEEARET2T 248 603 300 303
WHEEET2T 221 501 239 262 |BEEEARETST 1,018 2,817 1,377 1,440
RT3 T 705 1,527 751 776 B 1,938 4,759 2,349 2,410
g 1,662 3,944 1,908 2,036 |EE BMEmPET1T 306 682 326 356
RKEIRAT 5309 12,221 5,924 6,297 |EE BIEmMAET2T 228 500 242 258
hRERTT 264 530 246 284 |BEE EEmBRTI3T 561 1,245 615 630
hRER2T 206 371 165 206 g 1,095 2427 1,183 1,244
hRERST 221 489 234 255 |J\TFdt 94 203 96 107
hRERT4T 274 546 256 290
B 965 1,936 901 1,035
o A BT 566 1,189 566 623
hEEEET1T 552 1,172 545 627
hEEEET2T 776 1,308 625 683
hEEEETST 438 1,086 521 565
hEEEET4T 674 1,380 683 697
hEEEEST 831 1,736 837 899
hEEEET6T 3,278 6,359 3,029 3,330
5t| 6,549 13,041 6,240 6,801
P =T 700 1,671 811 860
BAFBILETTT 1,050 2,229 1,069 1,160
BXEFILET2T 957 2,178 1,075 1,103
BEAEFILAIST 1,845 3,814 1,648 2,166
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